(BlR4) ERDERBIKTREICE THEMAERERR (FR225E)

1. K (AR 501%K)

[—F=X .D J: 4 . 5
BEA AR .EEBE% S ik | Eap |EERE
B | ks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

7YX AOEY 6 0 — 0.2 0 0.1
1354907 YK 7 0 — 1 0 0.02
A IT7 1 0 — 0.05 0 0.02
IRTOHILT 2 0 — 0.02 0 0.01
IkozJOvHR 11 1 0.02 05 0 0.02
X Hoontky 8 0 — 0.05 0 0.05
IaFF=Uy 9 0 — 0.7 0 0.05
nafRyFIFIL 11 0 — 0.1 0 0.05
DAZAN Y 8 0 — 0.1 0 0.01
AN 1 0 — 0.05 0 0.01
A L0 6 0 — 0.1 0 0.03
FARUAINT RUFAH—T) 1 0 — 0.2 0 0.05
FIIYER 3 0 — 0.5 0 0.02
rIHSY =)L 13 1 0.3 3 0 0.05
EYJFHhILTD 1 0 — 0.03 0 0.01
EUIS /N9 AF)L 11 0 — 0.1 0 0.02
EFoxoy 11 0 — 0.2 0 0.02
2z =rAFF(MEP) 8 0 — 0.2 0 0.05
2x/7hILJ(BPMC) 2 0 — 1.0 0 0.02
2zFF 2 (MPP) 1 0 — 0.05 0 0.01
P ki 20 2 0.02 1 0 0.02
JA90—)L 6 0 — 0.1 0 0.05
JILSZL 5 1 0.05 2.0 0 0.02
JLF3o0—) 4 0 — 0.0 0 0.01
JOEJFK 21 8 | 002 ~ 006 07 0 0.02
RyILE—hk 1 0 — 0.05 0 0.02
A7zt 4 0 — 0.05 0 0.02
7oz )L 1 1 0.03 2.0 0 0.02




2. /hE GREE461&1K)

EERFULDOIER

BEA ECohosad I ki | iz |EERE
BRIAH | mks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)
7YX ZOEY 1 0 — 05 0 0.02
RECVI=PII 2 0 — 0.05 0 0.02
Iz JavHR 2 0 — 0.5 0 0.02
JLYFDLAFIL 10 0 — 0.1 0 0.02
CINTT=hY 19 0 — 0.1 0 0.02
o)L 3 0 — 05 0 0.005
FARUAINTRUFAH—D) 7 0 — 0.05 0 0.05
T7a+rJ—JL 24 0 — 2 0 0.05
R) T AR 1 0 — 0.1 0 0.03
R)TZ DA —IL(R) T O AR DR EIY) 1 0 — 0.5 0 0.05
R)ZILS—)L 1 0 — 1.0 0 0.05
KJZILSY 26 0 — 0.1 0 0.005
RILOBRZAFIL 5 0 — 0.1 0 0.03
Jz=rOF 7 (MEP) 7 0 — 10 0 0.01
21/ H7)LT(BPMC) 3 0 — 0.3 0 0.05
212 T —KPAP) 4 0 — 0.4 0 0.02
Jorary—IL 21 0 — 1.0 0 0.1
RUTAAZYY 10 0 — 0.2 0 0.01
A7O0=)L 1 0 — 2 0 0.03
J=E1=p 7 0 — 0.2 0 0.02




3. K¥x GEHH4&E)

E2RERULOFER g8 5 3
exs st s RERE | X% comn
BEH | s | REEE(ne/ke) | (noie) | Hbks | MK
FARUAINTRUFAH—D) 1 0 — 0.05 0 0.05
Jorary—IL 1 0 — 1.0 0 0.1
RUTAAZYY 2 0 — 0.2 0 0.01




4. K2 GAHE:518%)

EERFLULDIER

B Ehhosad I ik | Eap |EERE
B | ks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

7o —k 2 0 05 0 0.01
ISRRRA(TZ 7 — DK ) 2 0 0.05 0 0.01
7YX AOEY 8 0 05 0 0.02
7550—)L 5 0 0.2 0 0.02
AVEXH AT 1 0 5 0 0.05
IkozJOvHR 21 0 0.2 0 0.02
IaFF=Uy 1 0 0.1 0 0.02
/ORI /K 1 0 05 0 0.02
~0)L2)LF7XAY 1 0 1.0 0 0.05
£00420=JL(TPN) 1 0 0.2 0 0.01
7YY I7ER 3 0 0.3 0 0.02
L7 /7R A(CYAP) 2 0 0.1 0 0.02
Pas Sk aVy:) ) 1 0 0.1 0 0.03
oy Jz FA(ECP) 3 0 0.03 0 0.01
DRIV AT FILFFARY) 1 0 0.2 0 0.01
DITISV 4 0 0.1 0 0.01
DILRY 7 0 05 0 0.1
RIJLAR) D 2 0 0.05 0 0.05
DATFER 11 0 0.05 0 0.02
JEXFYZIL 4 0 0.1 0 0.02
FTAEY L 16 0 0.02 0 0.01
FARVAINTRFAH—D) 11 0 0.02 0 0.05
FIILR XAV 10 0 0.1 0 0.02
KJZILSY 7 0 0.15 0 0.005
EUFYIL 2 0 0.2 0 0.02
2z =rAFF(MEP) 17 0 0.2 0 0.02
2zF 7+ (MPP) 1 0 0.02 0 0.01
21 hI—KPAP) 4 0 0.05 0 0.02
Jx/\LL—k 6 0 0.20 0 0.05
P E S 2 0 0.10 0 0.02
JOvIRy 3 3 0.2 0.4 2 0 0.05
JaFAERR 5 0 0.05 0 0.02
JOAR) 3 0 0.1 0 0.02
RILARYY 1 0 0.05 0 0.01
RBJ Y 14 0 0.05 0 0.02
RUTAAZY > 10 0 0.2 0 0.01
RSFAUN(IFTY) 1 0 05 0 0.05
< atJd(xoEd) 8 0 3 0 0.02
AYSIL 1 0 0.2 0 0.05
ASo0—)L 2 0 0.2 0 0.02
J===p 27 0 05 0 0.02




5. Z-FSH GAFE5081K)

EERFULDOIER

HRERE

HEEE

- Ay B . EERF
RS BH | | RERBrae) | o | Bam | (meke)
7+HA3ITYR 5 0 — 3 0 0.02
FTtIT—k 1 0 — 05 0 0.01
AIZRRR(TZEI7—hD R E ) 1 0 — 0.5 0 0.01
AVXHFF 1 0 — 0.1 0 0.03
FEEV =PI 3 0 — 25 0 0.02
Iz JavHR 23 14 [ 003 ~ 0.8 5 0 0.02
HYAFTFT=D 2 1 0.02 2 0 0.005
LTIV I7ER 2 1 0.06 5 0 0.03
Pas Sk aVy:) ) 8 0 — 5.0 0 0.05
o497z F A (ECP) 3 0 — 0.03 0 0.01
DITIZV 4 2 001 ~ 004 2 0 0.01
SRILARIY 20 7 |ooe ~ 014] 50 0 0.05
SO NWATIV 2 1 0.06 2 0 0.05
AT/ 4 0 — 0.1 0 0.02
FFANEY L 9 0 — 0.3 0 0.02
FARUAINTRUOFAH—D) 3 0 — 0.03 0 0.05
KJZILSY 2 0 — 0.05 0 0.01
EYSY)L 1 1 0.08 5 0 0.02
Jz=rAF A (MEP) 10 1 0.08 05 0 0.01
JxEOXS A—fk 7 4 [ 003 ~ 005 20 0 0.02
P = | 1 1 0.2 5 0 0.03
LR 3R—b 2 0 — 2.0 0 0.03
J)LJx/HRAY 1 1 0.2 5 0 0.02
RILAR) Y 3 3 004 ~ 013 30 0 0.02
ISFFAUI(RSIY) 7 0 — 2.0 0 0.03
AV3)L 3 0 — 05 0 0.02
AS5490—)L 5 0 — 0.3 0 0.02




6. SVPVAITA GREE 941%1K)

EERFULDIER

BEg AL 1. e | Ay | mams
BRIAH | mks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)
7+HA3ITYR 20 3 0.4 ~ 0.7 3 0 0.02
7VXAROEY 14 5 | 0.01 ~ 060 | 3 0 0.01
AVEXHFF 2 0 — 0.1 0 0.03
RECVI=PII 29 0 — 28 0 0.02
Iz JavHR 15 3 0.1 ~ 0.2 5 0 0.02
£0)L2)L7XAY 1 0 — 2.0 0 0.05
<7 /1R A(CYAP) 1 0 — 0.05 0 0.02
o497z F A (ECP) 3 0 — 0.03 0 0.01
<48)LRX(DDVP) 1 0 — 0.2 0 0.01
DRIV AT FILF A ARY) 12 0 — 0.2 0 0.01
SRILARIY 3 0 — 05 0 0.05
AT/ 3 0 — 0.2 0 0.02
FFANEY L 10 0 — 0.3 0 0.02
TSR 2 0 — 1 0 0.03
R) T AR 6 0 — 0.2 0 0.02
R)TZ A= IL(R) T O AR DR EIY) 6 2 006 ~ 0.1 1 0 0.03
Jz=rOF 7 (MEP) 1 0 — 05 0 0.01
Jx2 T —KPAP) 11 0 — 0.1 0 0.02
JxEOXS A—hk 12 2 003 ~ 015 20 0 0.02
IJILTHEYZIL 43 16 | 003 ~ 2 5 0 0.03
J)LJx/HRAY 10 1 0.06 1 0 0.02
NFLVFTIIR 5 2 006 ~ 007 2 0 0.01
RILAR) Y 1 0 — 3.0 0 0.02
ISFFUI(RSVY) 13 0 — 2.0 0 0.03
AS5490—)L 2 0 — 0.3 0 0.02
A7O0=)L 2 0 — 0.01 0 0.02




7. ICALA (GR¥E#. 501&%K)

EERFULDOIER

BEA Ehhosad I ik | Eap |EERE
BRIEH | mpks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

7YX AOEY 1 0 — 1 0 0.01
47asH*y 5 0 — 5.0 0 0.05
RECVI=PII 1 0 — 0.4 0 0.02
JLYFDLAFIL 13 0 — 0.3 0 0.02
~0a420=)L(TPN) 2 0 — 1 0 0.01
<48)LRA(DDVP) 4 0 — 0.1 0 0.01
SRILARIY 2 0 — 0.05 0 0.05
DARI—F 2 0 — 1 0 0.1

AE /YK 2 0 — 0.2 0 0.02
AT/ 12 0 — 0.5 0 0.02
FATHILT 8 0 — 0.5 0 0.01
FARUAINTRUFAH—D) 1 1 0.01 0.02 0 0.05
FIILRJY 6 0 — 0.1 0 0.02
k)4 0)L7(DEP) 2 0 — 0.50 0 0.01
R)ZILZ—)L 1 0 — 1.0 0 0.05
KIS 5 2 | 0.01 ~ 003 | 1 0 0.01
RILOBRZAFIL 1 0 — 2.0 0 0.02
212 T —RPAP) 1 0 — 0.1 0 0.02
JAZRR 4 0 — 0.05 0 0.01
RILAR) Y 2 0 — 0.1 0 0.02
RUTAAZYY 19 1 0.02 0.2 0 0.01
RRAFT7E—F 10 2 002 ~ 003 02 0 0.02
ISFFAUI(RSIY) 4 0 — 0.5 0 0.03
AV3)L 11 0 — 05 0 0.02
=== 18 4 [ 003 ~ 0.4 1 0 0.02




8. [F<ELy (G - 491R1K)

EERFULDIER

s ST REER | LHEE | rapa
== B | gkt | RERE(me/ko) | (o) | Biasm | MO

7+HA3ITYR 9 1 0.02 05 0 0.02
7tIT—k 17 1 0.14 5.0 0 0.01
IFZIRRR(T7 I — DR ) 17 3 0.01 ~  0.07 2 0 0.01
7YX AOEY 6 0 — 3.0 0 0.01
47asH*y 2 2 0.07 5.0 0 0.05
RECV =PI 26 1 0.04 05 0 0.02
Iz JavHR 6 0 — 5 0 0.02
XV 22 5 002 ~ 009 2 0 0.01
$1JL73NJJL(NAC) 1 0 — 1.0 0 0.05
JLYFVLAFIL 4 0 — 2 0 0.02
4a)Lo7xFE)L 10 2 002 ~ 002 1 0 0.02
£~0a420=)L(TPN) 23 10 0.01 ~ 2 2 0 0.01
LTIV I7ER 12 0 — 2 0 0.03
<7 /1R A(CYAP) 2 0 — 0.05 0 0.02
<40)LRX(DDVP) 1 0 — 0.1 0 0.01
DITISV 1 0 — 1.4 0 0.01
IR 1 0 — 2.0 0 0.05
SRILARIY 1 0 — 5.0 0 0.05
DARI—F 2 0 — 1 0 0.1

SEXFYII 3 0 — 0.2 0 0.02
AE/HK 10 0 — 8 0 0.02
AT/ 3 0 — 0.1 0 0.02
FFANEY L 5 1 0.03 2 0 0.02
FATHILT 3 0 — 2 0 0.01
FIILRJY 3 0 — 0.1 0 0.02
FIILARL XAV 2 0 — 05 0 0.03
rSOAR)Y 1 0 — 05 0 0.01
cJZILS Y 2 0 — 0.05 0 0.01
MLz ESK 2 0 — 0.5 0 0.01
EYSY)L 16 1 0.05 1 0 0.02
Jx I —MPAP) 4 0 — 0.1 0 0.02
JxALL—F 14 0 — 3.0 0 0.1

JILINY R— 1 0 — 10 0 0.01
J)LJx/HRAY 4 1 0.05 0.5 0 0.02
IRV OFIR 19 4 001 ~ 009 5 0 0.01
XIFAU(RTYY) 10 0 — 2.0 0 0.03
AV3)L 17 3 [ 002 ~ 0.1 2 0 0.02
AESFDI 12 1 0.03 0.3 0 0.02
XV /OR 2 0 — 7.0 0 0.02
JLozXAay 5 0 — 1 0 0.05




9. LAR (BAME 518K

EERFULDIER

BEEE | HEEE | Lo
BEg i ] . ief | @ap |TERE
RIREL EEEE (mg/ke) (me/ke) | BiA%K mg/kg

7+HA3ITYR 1 1 0.03 5 0 0.02
7tIT—k 14 1 0.85 5.0 0 0.01
IFZIRRR(T7 I — DR ) 14 1 0.03 1.0 0 0.01
7YX AOEY 10 3 002 ~ 006 30 0 0.01
AVXHFF 1 0 — 0.1 0 0.03
4A7asH*y 5 1 0.11 10 0 0.05
REEVI=PII 12 0 — 25 0 0.02
Iz JavHR 3 1 0.03 2 0 0.02
XV 12 1 0.03 0.7 0 0.01
HYAFTFT=D 4 1 0.037 20 0 0.005
4a)L7xFE)L 10 2 004 ~ 03 | 20 0 0.02
4a)L7a77 L(IPC) 1 0 — 0.05 0 0.03
£~0a420=)L(TPN) 15 2 0.01 ~ 0.8 1 0 0.01
LTIV I7ER 1 0 — 10 0 0.03
SILIIAIIVT 4 0 — 5.0 0 0.05
<40)LRA(DDVP) 1 0 — 0.1 0 0.01
DITISV 1 0 — 5 0 0.01
SRILARIY 1 0 — 2.0 0 0.05
AE /YK 10 1 0.02 8 0 0.02
AT/ 5 0 — 0.1 0 0.02
FFANEY L 14 2 0.03 3 0 0.02
FATHILT 6 0 — 5 0 0.01
FIILRJY 2 0 — 0.5 0 0.02
FIIARL XA 1 0 — 1 0 0.03
FILOBRZAFIL 5 0 — 2.0 0 0.02
MLz ESK 3 0 — 10 0 0.01
EUSJIL 3 0 — 20 0 0.02
JxALL—F 11 0 — 2.0 0 0.1
JILES=)L 1 0 — 3.0 0 0.01
JILINY R—h 1 0 — 3.0 0 0.01
J)LJx/HRAY 2 0 — 10 0 0.02
IRV DTSR 22 10 | 002 ~ 064 ]| 15 0 0.01
JOL 3Ry 6 1 0.08 5 0 0.03
RILAR) Y 1 0 — 3.0 0 0.02
AR 4 2 | 004 ~ 060 | 20 0 0.02
XIFAU(RTYY) 11 0 — 2.0 0 0.03
AV3)L 19 4 [ 002 ~ 0.2 5 0 0.02
XD /OR 3 0 — 30 0 0.02




10. JOval— (GlEE481&1k)

EERFULDOIER

- BREBEE | BEEE | v
BEg i ] ief | @ap |TERE
RIREL EEEE (mg/ke) (me/ke) | #BiA%K mg/kg

EPN 5 0 — 0.1 0 0.03
7+HA3ITYR 2 0 — 2 0 0.02
FTtIT—k 10 0 — 5.0 0 0.01
AERRR(FZ 27—t D KRB 10 0 — 1.0 0 0.01
AVEXHFF 1 0 — 0.1 0 0.03
17asH+y 1 0 — 25 0 0.05
RV I=PII 1 0 — 5 0 0.02
XV 6 2 0.01 ~ 004]| 02 0 0.01
F¥TH 1 0 — 5 0 0.01
HYAFTFT=D 2 0 — 1 0 0.005
4a)L7xFE)L 14 2 002 ~ 003 1 0 0.02
£0)L2)L7 XAV 6 0 — 2.0 0 0.05
£~0a420=)L(TPN) 2 1 0.02 5 0 0.01
LTIV I7ER 1 0 — 1 0 0.03
<48)LRA(DDVP) 4 0 — 0.1 0 0.01
DITISV 4 0 — 2 0 0.01
AE/ YR 14 0 — 2 0 0.02
AT/ 2 0 — 0.1 0 0.02
FFANEY L 4 0 — 2 0 0.02
FIILRJY 3 0 — 05 0 0.02
FIILARL XAV 8 0 — 1 0 0.03
cJZILS Y 1 0 — 0.05 0 0.01
RILOBRZAFIL 1 0 — 2.0 0 0.02
MLz ESK 5 1 0.3 1 0 0.01
EYSYIL 10 0 — 2 0 0.02
J470=)L 1 0 — 0.05 0 0.01
212 T —RPAP) 6 0 — 0.1 0 0.02
JxA\LL—k 2 0 — 2.0 0 0.1
J)LJx/HZRAY 3 0 — 5 0 0.02
RILAR) Y 6 0 — 2.0 0 0.02
ISFFAU(ISYY) 3 0 — 5.0 0 0.03
AY3)L 7 0 — 2 0 0.02
AES5EDIL 6 0 — 0.5 0 0.02
XD /OR 4 0 — 5 0 0.02
A7O0=)L 1 0 — 0.01 0 0.02




11. LWV GREIE: 1005 1E)

EE LI ED% g sz 3
BEA AR .EEBE% S ik | Eap |EERE
B | ks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

ToUFRIY 25 2 1002 ~ 009] 2 0 0.01
F7EAITYR 53 19 | 002 ~ 05 3 0 0.02
7YX AOEY 46 13 | 001 ~ 1.3 | 10 0 0.01
AVEHFA 1 0 — 0.2 0 0.03
A7ASAy 3 3 | 019 ~ 15 | 20 0 0.05
1354907 YK 5 0 — 05 0 0.02
IhFHY—IL 16 2 {003 ~ 005 05 0 0.03
FrTE 16 1 0.01 20 0 0.01
ILYEXDLAFIL 28 11 002 ~ 0.4 5 0 0.02
4a)L7xF+EIL 48 0 — 5 0 0.02
yoO)L2)LF7ROY 20 2 | 007 ~ 018] 20 0 0.05
7YY I7ER 4 0 — 0.7 0 0.03
Pas Sk aVy:) ) 41 0 — 5.0 0 0.05
Sox/afry—IL 7 3 |00t ~ 005] 5 0 0.01
LINITTF IR 33 3 | 007 ~ 0.1 5 0 0.05
RJLAR) D 1 0 — 2.0 0 0.05
AE/HF 7 0 — 1 0 0.02
AT/ 8 0 — 0.1 0 0.02
FFHATYR 13 4 | 004 ~ 0.4 5 0 0.03
FADHILT 7 0 — 1 0 0.01
ThZaFy—IL 1 0 — 2 0 0.02
ThoORY 7 0 — 1 0 0.03
FI2x/OK 4 0 — 1 0 0.02
Tz ESK 16 2 0.01 ~ 002 1 0 0.01
FIILAR XAV 21 0 — 1 0 0.03
k)4~ 0JL7R(DEP) 12 0 — 1.0 0 0.01
KJZILZJ—)IL 60 5 | 006 ~ 017 20 0 0.05
ETILE2/—IL 42 2 002 ~ 003 10 0 0.02
EARY 12 0 — 2.0 0 0.03
EUFYIL 42 4 | 006 ~ 05 5 0 0.02
Ey7ox oIy 5 0 — 0.3 0 0.02
2xFUEIL 15 0 — 1.0 0 0.1

Jxo70/8R)Y 8 0 — 5 0 0.02
ILTHEXRYZIL 31 5 | 007 ~ 3 5 0 0.03
D)L\ fR—hk 2 0 — 1.0 0 0.01
J)Jx/HAAY 27 0 — 05 0 0.02
IRV OFER 43 4 | 001 ~ 009 2 0 0.01
JOvIRy 9 7 1005 ~ 047 ] 10 0 0.03
ANELFFTIHR 16 3 002 ~ 004] 2 0 0.01
RILARYY 2 0 — 1.0 0 0.02
RRAYKR 5 3 103 ~ 067 15 0 0.02
RSFAUN(IFY) 13 0 — 05 0 0.03
Svi=pi =y 38 9 | 002 ~ 018] 10 0 0.02
AYSIL 26 0 — 1 0 0.02
AEZFVIL 8 0 — 7 0 0.02
AFLT/OR 2 0 — 2 0 0.02
JLozXAay 33 2 0.2 ~ 0.4 1 0 0.05




12. E—<> (Gl¥Eh 98ik)

EERFULDIER

s S REER | LHNE | rapa
e B | gkl | RERE(me/ko) | (o) | Biasm | MO

ToVFR)Y 11 1 0.06 1 0 0.01
7EAITYR 28 4 | 004 ~ 0.1 1 0 0.02
FTtIT—k 2 0 — 5.0 0 0.01
AERRRA(TZEI7—hD K E ) 2 1 0.02 2.0 0 0.01
7VXZAOEY 15 3 [ 002 ~ 0.3 3 0 0.01
4A7asH*y 18 4 013 ~ 071 | 10 0 0.05
RECVI=PII 31 4 | 004 ~ 0.2 3 0 0.02
Iz JavHR 6 0 — 5 0 0.02
HXHYHRR 1 0 — 0.01 0 0.01
ILYFVLAFIL 9 2 0.1 ~ 0.2 2 0 0.02
HAFF7=Uv 5 4 [0007 ~ 0.2 3 0 0.005
4a)L7xFE)L 32 7 003 ~ 0.1 1 0 0.02
£~0a420=)L(TPN) 39 9 002 ~ 0.8 7 0 0.01
LTIV I7ER 3 0 — 1 0 0.03
DITIZV 21 8 [ 001 ~ 0.7 3 0 0.01
I ITTFEK 6 0 — 1 0 0.05
SRILARIY 7 0 — 2.0 0 0.05
DARI—F 1 0 — 1 0 0.1
AE/ YR 15 0 — 2 0 0.02
AT/ 13 0 — 0.1 0 0.02
FrHaAFYR 2 1 0.3 5 0 0.03
FFANEY L 6 1 0.1 1 0 0.02
R) T AR 3 0 — 0.3 0 0.02
R)T DA —ILR) T O AR DR EIY) 3 2 007 ~ 0.1 1 0 0.03
rJZILSI—)L 14 1 0.12 5.0 0 0.05
RILDIVESK 3 2 0.5 ~ 0.7 3 0 0.01
B~y 4 2 006 ~ 018 30 0 0.03
EYSYIL 19 5 | 004 ~ 05 2 0 0.02
JxFYUEIL 3 0 — 05 0 0.1
2x/7hILJ(BPMC) 2 0 — 2.0 0 0.01
JrEOXS A—fk 3 0 — 05 0 0.02
JzJasnsk)y 7 1 0.07 2 0 0.02
J)LJx/HRAY 11 4 | 004 ~ 0.1 1 0 0.02
JOY 3Ry 12 5 [ 003 ~ 05 5 0 0.03
RILAR) Y 11 2 003 ~ 022 30 0 0.02
RAAYE 3 1 0.16 10 0 0.02
IIFAU(RZYY) 8 0 — 0.5 0 0.03
oaJEaz)L 13 2 003 ~ 005 10 0 0.02
AY3)L 4 0 — 0.7 0 0.02
AES5EDIL 12 0 — 2 0 0.02
AFEF A (DMTP) 1 0 — 0.1 0 0.02
XD /OR 1 0 — 3 0 0.02
JLo7IXAay 18 1 0.06 1 0 0.05




13. bk GRAFE 991&{K)

[—N=X .D J: & [ B

BEA AR .EEBE% S ik | Eap |EERE

B | ks EEEE (mg/ke) (me/ke) | A% (mg/ke)

ToUFR)Y 1 0 — 0.5 0 0.01
FE53ITYR 39 4 003 ~ 004]| 2 0 0.02
7tIJx—k 1 0 — 5.0 0 0.01
APIRRA(TZEI7T—FD KB 1 0 — 2.0 0 0.01
7YX RAROEY 7 2 [004 ~ 005 3 0 0.01
470 4y 15 7 006 ~ 032]| 50 0 0.05
(IF9OTYE 12 0 — 2 0 0.02
IhDzJOvHR 5 2 | 004 ~ 0.1 2 0 0.02
HAXHHRR 1 0 — 0.01 0 0.01
HYaFF7=_Uy 1 1 0.04 3 0 0.005
s0)L7zFE)L 7 1 0.03 1.0 0 0.02
~00%08=JL(TPN) 60 15 [ 001 ~ 2 5 0 0.01
LTV IFER 12 1 0.03 2 0 0.03
CIRIIVAILD 30 1 0.06 5.0 0 0.05
/TS 51 20 | 001 ~ 009 2 0 0.01
ARy 2 0 — 05 0 0.05
IRIVARY 6 0 — 2.0 0 0.05
SEXHZIL 17 1 0.04 2 0 0.02
AE/HR 19 0 — 0.5 0 0.02
BATO/Y 2 0 — 0.1 0 0.02
F7HyATYR 12 5 003 ~ 008 1 0 0.03
FTAEHY L 2 0 — 2 0 0.02
TR XAV 13 0 — 05 0 0.03
R)ZILEJ—)L 20 0 — 2.0 0 0.05
FILTIVESK 12 5 [ 003 ~ 0.4 2 0 0.01
EYARY 30 5 | 003 ~ 005 10 0 0.03
EYSYIL 23 8 | 002 ~ 0.3 5 0 0.02
EyJo¥xi oy 4 0 — 1 0 0.02
2xFUEIL 1 0 — 05 0 0.1
Tz =—rBFF(MEP) 1 0 — 0.2 0 0.01
JzoEQF T A=} 9 2 002 ~ 005 05 0 0.02
JxJANMN)Y 1 0 — 2 0 0.02
J7O07zov 17 2 005 ~ 0.9 1 0 0.05
IULTHEYZIL 27 2 | 006 ~ 0.2 2 0 0.03
2o /HZAY 10 2 {002 ~ 004] 05 0 0.02
TR DFER 18 4 0.01 ~ 009]| 07 0 0.01
JOL3Ry 2 1 0.1 5 0 0.03
ARILARYY 4 0 — 1.0 0 0.02
RRAAUK 24 17 [ 003 ~ 0.4 5 0 0.02
HaJA=)L 1 0 — 1.0 0 0.02
AESXUI 18 2 o002 ~ 003] 2 0 0.02
JLozXAay 18 0 — 0.5 0 0.05




14. EwoY GAHE. 991R{K)

[—N=X .D J: & [ B
BEA AR .EEBE% S ik | Eap |EERE
B | ks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

THoUFRI 11 0 — 05 0 0.01
F7EAITYR 34 4 | 003 ~ 0.2 2 0 0.02
7YX AMOEY 25 4 | 001 ~ 009 1 0 0.01
1354907 YK 38 2 | 002 ~ 006 1 0 0.02
IhFHYY—IL 3 0 — 0.3 0 0.03
IkozJOvHR 14 0 — 2 0 0.02
HXHHRR 1 0 — 0.05 0 0.01
FrTE 17 1 0.07 5.0 0 0.01
ILYEXDLAFIL 7 0 — 05 0 0.02
HOFF=DY 20 6 |0005 ~ 0.1 2 0 0.005
4a)L7xF+E)L 32 10 002 ~ 005 1 0 0.02
£~0B0420=JL(TPN) 77 23 0.01 ~ 0.9 5 0 0.01
LTI I7ER 24 2 | 003 ~ 004 07 0 0.03
Pas Sk aVy:) ) 43 0 — 5.0 0 0.05
248 JLARR(DDVP) 1 0 — 0.2 0 0.01
/TS 39 20 | 001 ~ 0.2 2 0 0.01
ooapyy 1 0 — 05 0 0.05
Sox/afrJ—IL 1 0 — 1 0 0.01
I T FEK 3 0 — 05 0 0.05
RIJLAN) D 16 0 — 05 0 0.05
DANEILD 1 0 — 0.7 0 0.01
JEXYZIL 32 0 — 2 0 0.02
AE/HF 18 0 — 05 0 0.02
FFHATYR 1 0 — 1 0 0.03
FTAEY L 16 3 | 003 ~ 0.1 05 0 0.02
FTI)IJIESK 6 0 — 05 0 0.01
R)T7 ARy 5 1 0.02 0.1 0 0.02
RUT DA/ —IL(RYT AR QR B 5 0 — 05 0 0.03
RJZILZJ—)IL 35 1 0.06 1.0 0 0.05
FLDIVESK 4 1 0.02 1 0 0.01
EARY 9 0 — 1.0 0 0.03
EUFYIL 2 0 — 05 0 0.02
SDFIEPEY 1 0 — 0.2 0 0.02
2z =rOFF(MEP) 8 0 — 0.2 0 0.01
2x/7hJLJ(BPMC) 3 0 — 15 0 0.01
Jxo70/8R)Y 1 0 — 2 0 0.02
J7J07Ioy 4 0 — 1 0 0.05
LTHEXYZIL 16 1 0.03 2 0 0.03
J)Jx/HAAY 13 2 | 005 ~ 0.1 2 0 0.02
JOvIRy 33 21 003 ~ 0.4 5 0 0.03
RILARYY 2 0 — 05 0 0.02
RRAYKR 11 4 | 003 ~ 0.1 5 0 0.02
RAFT7E—F 19 0 — 0.2 0 0.02
RSFAUI(IFTY) 4 0 — 05 0 0.03
AESEXU 20 9 | 002 ~ 009 1 0 0.02
7oz )L 1 0 — 1.0 0 0.02




15. [F5NAZS GRFE: 99t&IK)

EERFULDIER

wxs S REER | LAEE | rams

BRIAH | mks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

7+HA3ITYR 5 1 0.04 3 0 0.02
7S5450—)L 9 0 — 0.01 0 0.005
1IXYFF 2 0 — 0.1 0 0.03
(354907 YR 17 4 | 006 ~ 47 25 1 0.02
HXHYHRR 2 0 — 0.1 0 0.01
Fr¥TH 15 0 — 5 0 0.01
TPV I7IR 17 12 | 003 ~ 24 | 25 0 0.03
<40)LRX(DDVP) 13 0 — 0.1 0 0.01
SRILARIY 28 8 | 007 ~ 03] 20 0 0.05
AE /YK 2 0 — 8 0 0.02
AT/ 34 0 — 0.1 0 0.02
FT7 AN L 2 0 — 10 0 0.02
FIIARL XAV 4 2 0.1 5 0 0.03
RILHYORRAF )L 1 0 — 20 0 0.02
Jz=rOF 7 (MEP) 1 0 — 0.2 0 0.01
212 T —RPAP) 3 0 — 0.1 0 0.02
J)LDc/HZRAY 28 21 003 ~ 15 | 10 0 0.02
RILARYS 4 1 0.11 20 0 0.02
ISFAU(ISVY) 1 0 — 2.0 0 0.03
AV )L 14 3 | 004 ~ 05 5 0 0.02
AES5EDIL 6 0 — 2 0 0.02
A7O0=)L 1 0 — 1.0 0 0.02
Lo 9 0 — 0.3 0 0.03




16. 125 (GE#EE 100%K)

EERFULDOIER

B Ehhosad I ik | Eap |EERE
BRIAH | mpks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

7+HA3ITYR 33 18 [ 002 ~ 2 5 0 0.02
7YX AROEY 26 13 [ 002 ~ 2 5 0 0.01
(34 HaTYKR 2 0 — 1 0 0.02
JLIYFVLAFIL 57 43 004 ~ 54 | 30 1 0.02
HOFF=Uv 29 23 | 0.01 ~ 27 | 15 0 0.005
IRIVARJY 39 13 | 006 ~ 15 6.0 0 0.05
DAI—h 29 0 — 1 0 0.1
AE/HK 13 3 003 ~ 0.2 5 0 0.02
BATO) 4 0 — 0.1 0 0.02
FT7AFY L 6 2 0.03 2 0 0.02
R)T O AR 7 0 — 0.1 0 0.02
RITOA/—IL(RYT D AR QR B 7 2 004 ~ 0.1 0.5 0 0.03
K)DJILEJ—IL 7 0 — 5.0 0 0.05
JAZRR 3 0 — 0.05 0 0.01
JILTCAEFIYZIL 22 11 004 ~ 6.4 | 10 0 0.03
JOFAKRR 8 0 — 0.1 0 0.02
RUTAAR) Y 6 0 — 0.05 0 0.01
AFH FA(DMTP) 13 0 — 0.1 0 0.02
J=E=p 3 0 — 0.2 0 0.02




17. CFEO% (BUFEE: 1001&K)

EERFULDOIER

s S REER | LHEE | rama

== B | gkl | RERE(me/kd | (o) | Bim | MO
7EEITYR 26 8 | 002 ~ 0.9 5 0 0.02
7o —k 2 0 — 5.0 0 0.01
ISRRRA(TZEI7— DK ) 2 0 — 0.7 0 0.01
7YX AOEY 2 0 — 15 0 0.01
7S5450—)L 5 0 — 0.01 0 0.005
REEVI=PII 3 0 — 5 0 0.02
4a)L7xF+EIL 13 5 002 ~ 0.4 5 0 0.02
L7V I7IR 22 10 [ 003 ~ 051 | 15 0 0.03
SITIS5V 25 20 | 001 ~ 0.4 5 0 0.01
SRILARIY 23 11 005 ~ 1.1 5.0 0 0.05
AE/ YK 26 4 | 003 ~ 0.4 5 0 0.02
AT/ 16 2 | 002 ~ 0.1 0.1 0 0.02
FT AN L 2 0 — 5 0 0.02
FIILRJY 28 2 {002 ~ 003] 05 0 0.02
KJZILS Y 3 1 0.03 0.05 0 0.01
EVYSIRAAFIL 5 1 0.04 1.0 0 0.01
J)LDc/HZRAY 23 9 | 003 ~ 049 ] 10 0 0.02
AV )L 8 1 0.2 2 0 0.02
AESEUIL 12 1 0.02 1 0 0.02




18. L AT GRAE. 99K)

=1 L J: 4t a3 5

exs s [T OER | BEER | EEEE | ppg

BRIAH | mpks EEEE (mg/ke) (me/ke) | A% (mg/ke)
FEAITYR 14 5 | 005 ~ 0.9 5 0 0.02
7YX ZOEY 3 3 | 846 ~ 10 | 30 0 0.01
1IXYFF 13 1 0.08 0.1 0 0.03
RV I=PII 1 0 — 25 0 0.02
FryTH 1 0 — 5 0 0.01
JLYFVLAFIL 11 5 002 ~ 36 | 30 0 0.02
SITIS5V 27 22 | 001 ~ 6.7 | 20 0 0.01
FILFIIL) 2 0 — 0.2 0 0.01
J)LJT/HZRAY 54 25 | 003 ~ 31 [ 10 0 0.02
RILARYS 3 2 | 004 ~ 005 30 0 0.02




19. YVAZ (GA¥I%.5041&1K)

EE LI ED% g sz 3
BEA AR .EEBE% S ik | Eap |EERE
B | ks EEEE (mg/ke) (me/ke) | BA%K (mg/ke)

THoUFRI 1 1 0.01 05 0 0.01
F7EAITYR 43 14 [ 002 ~ 009 2 0 0.02
(354907 YK 2 0 — 05 0 0.02
IhFHY—IL 4 0 — 05 0 0.03
$1JL731) JL(NAC) 14 0 — 1.0 0 0.05
FrTE 38 8 | 002 ~ 025 50 0 0.01
ILYEXDLAFIL 24 5 002 ~ 006 ]| 5 0 0.02
HOFF=DY 19 3 |0006 ~ 002 1 0 0.005
~0J)LEYRR 38 2 0.02 1.0 0 0.01
L7 /7R A(CYAP) 15 0 — 0.2 0 0.02
DITISV 13 1 0.03 05 0 0.01
DIV 26 4 | 005 ~ 006 04 0 0.05
Sox/afFJ—IL 34 0 — 1 0 0.01
IILRYY 22 0 — 1.0 0 0.05
Do XAV 6 0 — 1.0 0 0.03
o)L 19 0 — 5 0 0.03
RIJLAR) D 1 0 — 2.0 0 0.05
AT/ 17 0 — 0.1 0 0.02
FFHATYR 28 2 | 003 ~ 006 2 0 0.03
FTAEY L 1 0 — 0.3 0 0.02
T7aFrJ—)L 20 0 — 0.2 0 0.1
FI2x/OK 7 0 — 1 0 0.02
FTI)IJIESK 3 0 — 05 0 0.01
FIILR XAV 9 0 — 05 0 0.03
rSAAN) Y 1 0 — 05 0 0.01
RJZILSV—)IL 3 0 — 20 0 0.05
rJZEFROEY 27 11 002 ~ 0.2 3 0 0.02
EZz k)Y 3 2 |00t ~ 002] 1 0 0.01
EARY 1 0 — 2.0 0 0.03
2xFUEIL 20 0 — 1.0 0 0.1
2z =rOFF(MEP) 2 0 — 0.2 0 0.01
21 hI—RPAP) 19 0 — 0.1 0 0.02
Jzo/\LL—F 1 0 — 2.0 0 0.1
PEIIE NI 11 11 003 ~ 0.1 5 0 0.02
J)Jx/HAAY 3 0 — 1 0 0.02
IRV OFER 6 1 0.02 1 0 0.01
JaFAERR 3 0 — 0.3 0 0.02
AFHaFy—)L 16 0 — 05 0 0.01
RILARYY 1 0 — 2.0 0 0.02
RRAYKR 34 23 | 002 ~ 0.1 3.0 0 0.02
A2FHEFH2 (DMTP) 22 0 — 05 0 0.02




20. £1 (BA#E. 508%(K)

EE LI ED% g sz 3
BEA AR .EEBE% S ik | Eap |EERE
B | ks EEEE (mg/ke) (me/ke) | BiA%K (mg/ke)

THoUFRI 17 0 — 0.2 0 0.01
7EAITYR 41 1 0.1 2 0 0.02
7YX AOEY 13 0 — 15 0 0.01
A7ASAY 1 0 — 10 0 0.05
1354907 YK 13 1 0.02 0.5 0 0.02
IhEHYY—IL 1 0 — 0.05 0 0.03
$1JL731) JL(NAC) 1 0 — 1.0 0 0.05
ILYEXDLAFIL 13 0 — 1 0 0.02
HOFF=DY 13 6 |0006 ~ 004 07 0 0.005
~0J)LEYRR 18 0 — 1.0 0 0.01
4sa)L7xF+EIL 3 0 — 0.05 0 0.02
£~0B0420=JL(TPN) 14 0 — 2 0 0.01
L7 /7R A(CYAP) 2 0 — 0.2 0 0.02
DITISV 9 7 0.01 ~ 0.3 3 0 0.01
IILRY 2 0 — 1.0 0 0.05
Do XAV 1 0 — 0.05 0 0.03
AE/HF 8 0 — 0.2 0 0.02
AT/ 19 0 — 0.1 0 0.02
FFHATYR 22 3 | 003 ~ 0.2 1 0 0.03
FADHILT 9 0 — 2 0 0.01
T7aFrJ—)L 31 0 — 1 0 0.1
FI2x/OK 4 0 — 0.05 0 0.02
FIILRL XAV 8 0 — 0.3 0 0.03
RJZILSV—)IL 7 0 — 2.0 0 0.05
rJZEFRREOEY 2 0 — 0.2 0 0.02
ETILE/—IL 10 2 002 ~ 004 10 0 0.02
EZz k)Y 2 0 — 0.1 0 0.01
2xFUEIL 5 0 — 1.0 0 0.1
2z =rOFF(MEP) 11 0 — 0.2 0 0.01
21 hI—RPAP) 1 0 — 0.1 0 0.02
Jx/\LL—k 2 0 — 5.0 0 0.1
Jxo70O/8R)Y 6 0 — 1 0 0.02
J7J07Ioy 35 0 — 1 0 0.05
J)Jx/HAAY 23 0 — 0.1 0 0.02
IR FIR 17 0 — 0.05 0 0.01
JOvIRy 3 0 — 3 0 0.03
AFHaFy—)L 25 1 0.01 0.1 0 0.01
RILARYY 20 0 — 2.0 0 0.02
RRAAYKR 7 1 0.03 0.2 0 0.02
RSFAUN(IFY) 3 0 — 05 0 0.03
AYSIL 9 1 0.02 2 0 0.02
A2FHEFH2 (DMTP) 13 0 — 0.2 0 0.02




21. 5 &5 GRHEU:5084)

EERFULDOIER

BEEE | HEEE | Lo
BEg G ] . iefm | @ap |TERE
RIREL EEEE (mg/ke) (me/ke) | A% mg/kg
ToVFR)Y 17 0 — 2 0 0.01
7+HA3ITYR 24 0 — 5 0 0.02
7TtIJrz—k 17 6 002 ~ 013 50 0 0.01
IFZIRRR(T T — DR ) 17 5 0.01 ~ 004]| 3 0 0.01
7YX AOEY 28 19 0.01 ~ 057 ] 10 0 0.01
RECVI=PII 23 11 002 ~ 0.2 3 0 0.02
$1JL73NJJL(NAC) 9 0 — 10 0 0.05
FyTH 16 2 007 ~ 0.2 5 0 0.01
JLYFVLAFIL 24 8 002 ~ 02 | 15 0 0.02
HYAFTFT=_D 6 1 0.2 5 0 0.005
4a)Lo7xFE)L 15 5 002 ~ 005 5 0 0.02
LTFIVI7PER 7 1 0.06 10 0 0.03
Pas Sk aVy:) ) 7 0 — 5.0 0 0.05
DITIZV 13 4 | 001 ~ 002 10 0 0.01
D INUP 3 0 — 1.0 0 0.05
2Javz )L 21 6 004 ~ 0.3 5 0 0.03
SRILARIY 3 0 — 2.0 0 0.05
SEXFYII 25 0 — 1 0 0.02
AT/ 3 0 — 0.1 0 0.02
FrHaATYR 7 2 003 ~ 0.1 5 0 0.03
FFANEY L 1 0 — 2 0 0.02
T7arJ—JL 12 2 0.2 10 0 0.1
FTI)IJIESK 2 0 — 0.5 0 0.01
rSOAR) Y 1 0 — 05 0 0.01
RJZILSI—)L 4 0 — 2.0 0 0.05
rJ)ZOFL XMAEY 3 0 — 5 0 0.02
EJx k)Y 3 2 003 ~ 0.1 2 0 0.01
Jz=+AFF(MEP) 20 1 0.05 0.2 0 0.01
I I —MPAP) 3 0 — 0.1 0 0.02
J7O07zoy 9 0 — 1 0 0.05
2ILTH XYL 21 0 — 5 0 0.03
JILINY R— 7 0 — 2.0 0 0.01
RILAR) Y 13 7 003 ~ 022 50 0 0.02
RAAYE 1 1 063 ~ 063 [ 10 0 0.02
XTFFA(RTYL) 5 0 — 8.0 0 0.03
AESFI 12 2 003 ~ 008 1 0 0.02
AFEF A (DMTP) 13 0 — 1 0 0.02




